0

0
o
0

A - ZH . GRI(E) - HRAE - BES Ao e 2t
n; 4,061,885 4,044,571 17,314
I 3,077,013
= 984,872
HZH|(2-Z 24D 200,570 183,387 17,183
Il 88,993
= 111,577
S2IHI(+ENESELSIH) 198,290 181,107 17,183
J| 86,713
i 111,577
A23Y| 198,290 181,107 17,183
J| 86,713
= 111,577
101 @1244| 196,010 179,247 16,763
Il 84,433
= 111,577
02 JIEtA &= 61,175 54,814 6,361
O (=) 51,328
0 JI22(ZABES 3,236,300&x121x12& 38,836
Il 25,329
= 13,507
= 38,836,000&x121x1.8/12 5,826
ESE 1,200
o b <At 40,0002 %121+ 12& 480
o JIEIH=E 20,0002*321%12& 720
0 AlZte|I22+Y 9,2982*35A2H+12& 3,906
0 E2=Eokt= 130,000 x121x 123 1,560
O ZUSAH| 130,000 121x 123 1,560
O BESIHI 3,236,300&*121%1.2 3,884
O A2 4| 38,836,0002*131/30%1/12 1,403
OR={CES 3,000,000& 3,000
03 RIAHAZ 22 134,835 124,433 10,402
O LS ARAES A 2ZAIR 134,835
02122 1,399,370 x421x 123 67,170
| 59,104
[ 8,066
0 JIg==g 1,679,370 *100%*421*43| 26,870
0 HESIHI 1,399, 370 & *60%*4 21x23| 6,717
0 Alt2IZ2R=E 10,367 &*4Q1x16A1 2t 12 7,962
0 AXFSHII==E 55,3002 *421% 13 2,876
0 S| 120,000 x421x 123 5,760
0 nSEXHI 130, 000& *401x12& 6,240
0 Itz 400,000&*12& 4,800
0 ?Ig=g 30,0002 +421x 122 1,440
0 SHZZEHI 5,000,000& 5,000
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S A

NE: HHSSAL|(HHFND
Chel: ol 2oll(SENASHEIN) (erl:&8)
SA - FHM .S (BH) - HRAY - BES Ol ko o H D=2
204 R AH| 2,280 1,860 420
| 2,280
02 2ZExH| 1,680 1,260 420
O (&) 140,000 *101x 123 1,680
| 1,680
03 SEHR2AHI 600 600 0
O EA(&2H) 50,0003 *121x12& 600
| 600
Jl2dul(2=2MEELE3IAH) 2,280 2,280 0
J| 2,280
J|l2&| 2,280 2,280 0
J| 2,280
202 Odd| 2,280 2,280 0
| 2,280
01 =LHOHI 2,280 2,280 0
O Jl2ge3dot| 190,000& 101 12& 2,280
J| 2,280
MR SEBMAY =X 3,861,315 3,861,184 131
| 2,988,020
i 873,295
FOIXZ A (=ZIHEEL3IH) 1,333,363 1,349,723 16,360
| 1,325,037
= 8,326
SHIA =0IX|JAL 1,333,363 1,349,723 A16,360
J| 1,325,087
= 8,326
101 QIZ4H| 19,833 18,400 1,433
| 11,507
i 8,326
04 JIZtHI2 2RSS E+ 19,833 18,400 1,433
O& 22| XS ZARA 212 19,833,000& 19,833
J| 11,507
o 8,326
202 Odb| 2,249 2,220 29
J| 2,249
01 =2 2,249 2,220 29
OF2XEAME Z=ZIAEY EHE 2,249,000 2,249
J| 2,249
303 La=3 6,000 0 6,000
J| 6,000
01 Z&3 6,000 0 6,000
OLS2ALATLIIZ BB} 2HTRH U
AAIZ 6,000,000& 6,000
| 6,000




SN EASIMD
HE: PSR SRSFAY =X
EH9l: FOINIBAIY (RIS ESIH) (Er9): &)
- _ _ po[E e
SA - HH - C9I(3H) - NRAE - BES ofl &t e HI DS
401 Al&EI LS TH| 306,534 316,713 A10,179
| 306,534
01 Al 304,254 315,243 ~10,989
LHPAZDIT ALY 117,077,00024 117,077
| 117,077
OSZEH F0IXRAY 151,238, 0002 151,238
| 151,238
OM+2STY FOIKAAIR 35,939,002 35,989
o] 35,989
03 Al&=2CHE| 2,280 1,470 810
OYZ F0IX ALY 1,100,000 1,100
p] 1,100
OB FoITI /ALY 850,002 850
p] 850
OM%RAPSTY FOIXIH AL LY
330,002 330
ol 330
402 RIRHRHROIH 998,747 1,012,390 A13,643
| 998,747
EEDENEEES 998,747 1,012,390 A13,643
ONFXI AL 392,600
0 ASABET 1,000,00024 1,000
p] 1,000
0 e 391,600, 00024 391,600
| 391,600
O4B1 FOIX ALY 401,947 00024 401,947
| 401,947
OSFEH F0IXRAY 143,200,00024 143,200
| 143,200
OM#2257Y FOINAAM 61,000,002 61,000
| 61,000
STHALXS(SRINLSE 3! H) 2,483,242 2,471,851 1,391
p] 1,625,231
2 858,011
EESIENPEIET 2,483,242 2,471,851 11,391
p] 1,625,231
2 858,011
201 Er2Y| 879,000 883,200 £4,200
| 544,980
2 334,020
02 S22 879,000 883,200 ~4,200
OJtE2L BRHAILFIIQS | (80m /L)
®le2 14,000,000/ 122 168,000
| 104, 160
2 63,840
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SA: BRI
Hu: Zouad SRIFAIY S
Sol: DTSRI (SRS SI) (Erol: &2
- _ _ PlEL=
SA - HY - BAGEH) - NRAY - BAS Ofl st Gl atou HI DS
OJtEE2h S3HIAL 11(50m/L)EIIR3
13,000,0002/ 122 156,000
| 9,720
2 59,280
OR=HIAL &II23 5,000,002 122 60,000
| 37,200
2 22,800
OJtE=2L BRHAL =24X Halt| 495,000
0.7HE25L HeIAIA | (80m /)
125,000/ 180+ 128 270,000
| 167,400
2 102,600
0.01E25E ZBHIAIL 11(50m/2)
25,0002/ 130E+ 128 195,000
| 120,900
2 74,100
0. 2LH2IAS 125, 000220+ 122 30,000
o] 18,600
2 11,400
307 BI2F0IF 1,506,763 1,506,769 16
p] 1,054,732
2 452,031
05 DIRFSIErS 1,506,763 1,506,769 76
OBZIIZAIE SIErR2lY| 1,506,763
0.JHE25E BBHRIAIL | (80m/2)
59,445, 44621 +122 713,346
| 499,340
2 214,006
071525 BBHIAIL 11 (50m /L)
42,046, 40021+122 504,557
| 353,190
2 151,367
0.2LH2IAE 24,071,62021%122 283,860
| 202,202
2 86,658
401 Al ZHIL 2T 97,479 44,507 52,972
| 25,519
2 71,960
01 Al 97,479 44,507 52,972
ONE2LIJHAIAL L 2uHelAle +4
47,500,000 47,500
| 25,519
2 21,981
OI=2LHeIAL JIETEE 49,979,002 49,979
oy P (SRINESEEIH) 44,710 39,610 5,100
| 37,752
2 6,958
FANLR T 27 B 44,710 39,610 5,100
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SN EASIMD
BE: BoML AESFA XX
ol ZOAAR 2| (LEHLSHEIN) (Sr9): 1)
- _ _ po[E e
SA - F . CR(BH) - HRAY - BES Ofl At Gl Atod C[ImE==T]
Jl 37,752
fiis 6,958
101 1244 13,000 13,000 0
| 8,492
2 4,508
04 IRIIR2AS 2% 13,000 13,000 0
O A42RST Ma)|4dieRl
13,000,000& 13,000
| 8,492
i 4,508
201 LBt2E| 26,710 26,610 100
| 24,260
s 2,450
01 AFR22lH] 16,850 16,650 200
O gE=ZH| 13,200
0 H4RBSPATH P (DIHATE)
1,600,000& 1,600
Il 1,600
0 LHIZHI P (OIS HNHELIE)
2,000,000 2,000
| 2,000
0 H=EM 50,0002 80K 4,000
| 4,000
0 QHATH B4 50,0002+ 107 5,000
Il 5,000
0 MDISE7(100L) 3,000&*2000H 600
p) 600
O SUI(ZUYLR =22IR)
7,000&*501x70 2,450
O +ZQSAD SZ| YR 600,0008 * 23] 1,200
| 1,200
02 Z==24| 9,860 9,960 A100
O 2292 < WAl 2,960
0 =ZX 282 L NS 800,000& 800
I 800
0 ZA=L DRSS 60,0002 *2IH 2+ 12 1,440
J| 1,440
0 ZAEL HIR3 30,0003 *2)H 2+ 123 720
I 720
O XE=Al 6,900
0 =54l 2,000&*200L*12& 4,800
Il 4,800
0 X6 210,000&*10=] 2,100
I 2,100
405 XS4 5,000 0 5,000
p] 5,000
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